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Answer all questions.
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question.

The total of the marks for this paper is 60.
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2 For

Examiner s
Use

1 (a) Express 72 as a product of its prime factors.

ARSWET (@) oot [1]

(b) Find the highest common factor of 210 and 280.

ARSWET (D) oo [1]

2 (a) State the number of significant figures in the number 22 002.

ARSWEF (@) oo [1]

(b) Express 2069 correct to the nearest 20.

ARSWET (D) oot [1]

3 Write the following ratios in their simplest forms.

(a) 21:49

ARSWEF (@) oot [1]

(b) 50cm:2m

ARSWET (D) oot [2]
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3 Exafn{l)';er's
Use
4  Triangle 4 has vertices (—3, 1), (—1, 1) and (—1, 4).
Triangle B has vertices (1, —4), (3, —1) and (3, —4).
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(a) Describe fully the single transformation that maps triangle 4 onto triangle B.
ATSWEF (@) .ottt et e tee et e et e e e tbe e e tt e e s sbeeestbeeesseesssaeesnseeesbeeesreeesbeeenreeennes [2]
(b) Triangle 4 is mapped onto triangle C by a reflection in the x-axis.
Draw and label triangle C. [2]
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5 (a) Convert 6.3 litres to millilitres.
ANSWEF (@) oo millilitres [1]
(b) Convert 0.25 hours to minutes.
ARSWET (D) oo minutes [1]

6  The diagram shows a sector AOB of radius 6 cm.

The sector angle is 300°.

NOT TO SCALE

(Usem=3.14)
Calculate

(a) the length of major arc 4B,

ARSWEF (@) oot

(b) the perimeter of the sector.

ANSWEF (D) oo
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7  Arrange the fractions in order of size, starting with the smallest.

2 4 1 7
5 2 15
Answer ............. e e e e , [3]
smallest
8 (a) Complete the table for y = x2.
b -2 -1 0 1 2
= x2 0 4
y=x
[1]
(b) On the grid, draw the graph of y = x? for — 2 <x <2.
____________________________________________ 5
............................................ P N SR WS S
............................................ o SR N S R S
_____________________________________________ 1
;) 7 0 i 3 >
___________________________________________ - - _1_______________________.._____________________.
___________________________________________ e D CEEEEEETEEEEEEr
-------------------------------------------------------------------------------------------- [2]
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9 (a) You are given that y=3x+2.
Find the value of y when x = 5.
ARSWET (@) oo [1]
(b) Remove brackets and simplify.
32x +4) +2(5x — 1)
ARSWET (D) oot [2]

10 The diagram shows part of a regular polygon.

The size of an exterior angle of the polygon is 24°.

NOT TO SCALE
__2{5 77777
Calculate
(a) the size of each interior angle,
ARSWET (@) oot ° 2]
(b) the number of sides of the polygon.
ARSWET (D) oot [2]
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11 (a) Factorise completely the following expression.

15a%b — 40ab?

ARSWET (@) oot [2]

(b) Solve the equation for x

4x—1)=5

ARSWET (D) X = oo [2]

12 Tanele invests E2500 in a bank at 6% per annum simple interest.

Calculate the interest she earns after 30 months.

13 Andile is x years old.
His father is 25 years older than him.

(a) Write down an expression for the father’s age.

ARSWET (@) oot [1]
(b) The sum of their ages is 37.

Write down an equation in x and solve it to find Andile’s age.

ARSWET (D) oot [2]

For
Examiner s
Use
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8 For

Examiner s
Use

14 Express the following as a single fraction as simply as possible.

a-3 a+5

2 4

ANSWEF oot eeciie e et seree e e e e e eiva e e e saaaeeeas [3]

15 POQRS is a quadrilateral.

PO =9cm, QR = 6¢cm, RS = 7cm.
POR = 38° and SPQ = 120°

(a) Draw quadrilateral PORS accurately.

PQ is drawn for you.
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(b) Measure and write down the length of side PS.

ARSWET (D) oot cm [1]

16

You are given that y varies directly as x.

The table shows values of x and y.

X 4 6 10
y 6 9 P
Find the value of p.
ARSWET P = oot [2]

17

The Venn diagram shows the universal set &, set M and set N.

&
M 10

2 o Al

List the members of the following sets.

(@ M

R ) FO [1]
(b) MUN

R ) B [1]
() N

ANSWEF (C) covrreeeeeeeeeeeeeeeeeeesseeseseesees e [1]
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10 Exa;{l)';er's
Use
18 The bar chart shows the ages of learners in a class.
A
16
14
Number 12
of 10
learners
8
6
4
2
0 4
14 15 16 17 18
Age (years)
(a) (i) How many learners are 16 years old?
ARSWET (A)(1) ceveeeeereeerieeeiee ettt [1]
(i) Find the total number of learners in the class.
ANSWEF (A)(11) wevveeereeieeie et [2]
(b) A learner is chosen from the class.
Find the probability that the learner is
(i) 14 years old,
ARSWET (D)(1) ceveeeereieriieeiee et [1]
(ii) 16 or 17 years old.
ANSWEF (D)(11) wovveeeieeeieeieesieeeee et [1]
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19 A bus travels from town F' to town G.

The diagram shows the journey of the bus.

A

120

Town G —p

100

80

60
Distance

(km)

40

Town F —¥» 20

Time (h)

Calculate the average speed of the bus.
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